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Analysis of 3-way dispute about 0’9109 and their ability to intermarry — 8"’s opinion that only '®T112 *RT1 may marry
27: 8™ 1OYN

SRINY: quotes Y90 as listing 10 “groupings” that made n»%y — and all 10 may intermarry with each other (!)
challenge to both positions:

a
b
c
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if an NOYIX is pregnant:
1 17 the child is a“mn (may marry a 'R 71nn)
2 Yrnw: the child is a ’pinw (it’s a pav > may not marry a 'RT) TnN)
answer #1: revert positions (27— *pINY; YRINY — THN)
1 challenge: if so, why teach the principle twice? (comment on our ®n»11 and independently here)
2 answer: needed - if we only had 17's comment on our mwn — 8"70 because NYRR D1V 1 (she’s single) -
(a) but:in case of Xn»11 (NO1IR) — would agree with YRnw that it’s a certain vmn
(b) and: if we only had xn»2 — ™70 that 27 judges it to be pav as we could assume the father is the 1R — 8%
answer #2: 27 means “7tn and banned from Y87w’ Na”; YR1NW means:
1 possibility #1: 'pynw and banned from 87w’ na (rejected - he’s same as 27)
2 possibility #2:'p1nw and we don’t allow him to be considered a 113 (rejected — he’s not even considered Hx81w?)
3 possibility #3:'p1nw and we don’t allow him to inherit his father’s estate (rejected — we don’t know who that is)
(a) fix:if he seized some of the property of the alleged father’s estate
4 possibility #4:pnw =71 and we ask the mother who the father is (and she has credibility)
(a) challenge: YRnw already confirmed that the na%n follows 3" (®”a mamnd)
(i) answer: that may have only applied where n%2RX 0Mw3 11 - this ruling extends to nY¥x >0 11

Status of n'm3 (Samaritans)
R™ — may not marry each other (nms<->>n)

a

i

reason: considered as 71 after 10 generations/he no longer mentions 1"y (no longer known as 13->may not marry nimn)
1 challenge (»2x): dissimilar — in that case, the ™" is old (generations) and the namn is “fresh”
(a) and: people will think that a Y87 12 may marry a nimn
(b) however: in this case, the man and woman are of equal “vintage” as n’m>
2 rather: R™ accepts YRYNW 7's ruling that m> were nmIr »i (false converts)
(a) And:9Rynw "7 accepts ¥"1's ruling that the child of a non-Jewish man and a 87w nais a 9N
(b) Challenge: YRynw "y doesn’t accept that ruling of ¥ as evidenced by his use of v. 1
3 Rather: R accepts »'s ruling vis-a-vis 0'm2 and he accepts »™'s ruling that 7mn 7910 Y8797 na 5y Ran 0"y
(a) Challenge: 8™ claims that a 9tnn can only come from a relationship which entails 013 (and is an ")
4 Rather: there are three positions:
(a) Swppws 7 mm are “false converts” and the n’1n> who intermarried with them are n’»oa (v. 2)
(b) »”r. the mm> are legitimate converts and the 231> who intermarried with them are o3 (v. 2)
(i) Note: they banned these n’1n3 since they would have only mo1x be considered ma»5 mpipt (v. 3)
(if) And:y™ is following his own general approach to generate mamn from x5 227N (e.g. WYY NNY)
(c) »y”r agrees with " but the D'm> were banned since they weren’t careful about the laws of lineage
(i) example: 8™ rules that nmoR *Mm> nx¥n since they aren’t careful about the details of nxn
1. note: »"av1 rules that any nnxn that the o' appropriated they observe more stringently than we
2. but: in our case, they aren’t experts in the areas of W1 Y7
3. or: a nn from mnk and NR NWR got mixed in to their society
a. Teaching: that mn»3 »2»nn 7tnn v?
i.  Ifso:just teach one of the cases
ii. Answer: that's the way it happened (two occurrences)
4. alternatively: an 72y and a nnaw got mixed in with them
a. if so: teach one (72 OR nnaw)
b. answer: that’s the way it happened (both)
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